
B U S T E R  +  P U N C H  T E C H  S P E C

B U S T E R  +  P U N C H  T E C H  S P E C

P U L L  B A R

b u s t e r a n d p u n c h . c o m
i n f o @ b u s t e r a n d p u n c h . c o m

P U L L  B A R
A  P u l l  B a r  H a n d l e  m a d e  f r o m  s o l i d  m e t a l .  A  s o l i d  b a r  w i t h  d i a m o n d - c u t 

k n u r l e d  h a n d l e  d e t a i l i n g ,  e n s u r i n g  p l e a s u r e  w i t h  e v e r y  t o u c h .  W o r k s  g r e a t 
o n  c a b i n e t  d o o r s ,  w a r d r o b e  d r a w e r s ,  c u p b o a r d s ,  k i t c h e n  u n i t s  a n d  j u s t 

a b o u t  a n y t h i n g  t h a t  c a n  o p e n .  A v a i l a b l e  i n  4  m e t a l  f i n i s h  c o m b i n a t i o n s  u s i n g 
b r u s h e d  b r a s s ,  s t e e l ,  s m o k e d  b r o n z e  &  s a t i n  b l a c k  m e t a l .  A v a i l a b l e  c o m p l e t e 

w i t h  a  r e c t a n g u l a r  p l a t e  a n d  p e n n y  b u t t o n s  o r  j u s t  n u d e .

P U L L  B A R  /  P L A T E  /  S T E E L

P U L L  B A R  /  B R A S S

P U L L  B A R  /  S M O K E D  B R O N Z E

T E C H  S P E C



B U S T E R  +  P U N C H  T E C H  S P E C

B U S T E R  +  P U N C H  T E C H  S P E C

P U L L  B A R  /  S M A L L

125

160

4
7

T E C H  S P E C

1
8

 Ø

F INISH SKU ALSO INCLUDED:

Handle is  f i t ted from behind cabinet door and can not be front face f i t ted.

2 pcs2 pcs

2x M5 x 30 mm screw*
2x WasherUK-PB-H-160-ST-A

UK-PB-H-160-BR-A

UK-PB-H-160-SM-A

UK-PB-H-160-BL-A

Steel

Brass

Smoked Bronze

Black

CARE INSTRUCTIONS

Wipe with damp cloth with no loose hairs ,  avoid using 
any chemicals .  Please note al l  f in ishes are prone to aging.

* F i ts  doors & draws of max 20 mm.



B U S T E R  +  P U N C H  T E C H  S P E C

B U S T E R  +  P U N C H  T E C H  S P E C

P U L L  B A R  /  M E D I U M

225

260

4
7

1
8

 Ø

T E C H  S P E CT E C H  S P E C

225225

FINISH SKU ALSO INCLUDED:

Handle is  f i t ted from behind cabinet door 
and can not be front face f i t ted.

2 pcs2 pcs

2x M5 x 30 mm screw*
2x WasherUK-PB-H-260-ST-A

UK-PB-H-260-BR-A

UK-PB-H-260-SM-A

UK-PB-H-260-BL-A

Steel

Brass

Smoked Bronze

Black

CARE INSTRUCTIONS

Wipe with damp cloth with no loose hairs ,  avoid using 
any chemicals .  Please note al l  f in ishes are prone to aging.

* F i ts  doors & draws of max 20 mm.



B U S T E R  +  P U N C H  T E C H  S P E C

B U S T E R  +  P U N C H  T E C H  S P E C

P U L L  B A R  /  L A R G E

325

360

4
7

T E C H  S P E C

1
8

 Ø

325325

FINISH SKU ALSO INCLUDED:

Handle is  f i t ted from behind cabinet door and can not be front face f i t ted.

2 pcs2 pcs

2x M5 x 30 mm screw*
2x WasherUK-PB-H-360-ST-A

UK-PB-H-360-BR-A

UK-PB-H-360-SM-A

UK-PB-H-360-BL-A

Steel

Brass

Smoked Bronze

Black

CARE INSTRUCTIONS

Wipe with damp cloth with no loose hairs ,  avoid using 
any chemicals .  Please note al l  f in ishes are prone to aging.

* F i ts  doors & draws of max 20 mm.



Contents 
2x  M5 x 30 mm screw*
2x  Washer

*Fi ts  doors & drawers of max 20 mm.*Fits  doors & drawers of max 20 mm. 

Contents
2x  M5 x 30 mm screw*
2x Washer

P U L L  B A R  /  P L A T EP U L L  B A R
1. Dri l l  holes,  dr i l l  template avai lable to 
download from busterandpunch.com.

2.  Attach pul l  bar to door from the back 
with screws & washer.

1.  Dri l l  holes,  dr i l l  template avai lable to 
download from busterandpunch.com.

2.  Attach pul l  bar to door from the back 
with screws & washer.

B U S T E R A N D P U N C H . C O M

H A R D W A R E
P U L L  B A R

CARE INSTRUCTIONS

Use mild detergent and soft  damp cloth

E U R O P E  I N S T R U C T I O N S



B U S T E R  +  P U N C H  T E C H  S P E C

B U S T E R  +  P U N C H  T E C H  S P E C

P U L L  B A R

b u s t e r a n d p u n c h . c o m
i n f o @ b u s t e r a n d p u n c h . c o m

P U L L  B A R
A  P u l l  B a r  H a n d l e  m a d e  f r o m  s o l i d  m e t a l .  A  s o l i d  b a r  w i t h  d i a m o n d - c u t 

k n u r l e d  h a n d l e  d e t a i l i n g ,  e n s u r i n g  p l e a s u r e  w i t h  e v e r y  t o u c h .  W o r k s  g r e a t 
o n  c a b i n e t  d o o r s ,  w a r d r o b e  d r a w e r s ,  c u p b o a r d s ,  k i t c h e n  u n i t s  a n d  j u s t 

a b o u t  a n y t h i n g  t h a t  c a n  o p e n .  A v a i l a b l e  i n  4  m e t a l  f i n i s h  c o m b i n a t i o n s  u s i n g 
b r u s h e d  b r a s s ,  s t e e l ,  s m o k e d  b r o n z e  &  s a t i n  b l a c k  m e t a l .  A v a i l a b l e  c o m p l e t e 

w i t h  a  r e c t a n g u l a r  p l a t e  a n d  p e n n y  b u t t o n s  o r  j u s t  n u d e .

P U L L  B A R  /  P L A T E  /  S T E E L

P U L L  B A R  /  B R A S S

P U L L  B A R  /  S M O K E D  B R O N Z E

T E C H  S P E C



B U S T E R  +  P U N C H  T E C H  S P E C

B U S T E R  +  P U N C H  T E C H  S P E C

P U L L  B A R  /  P L A T E  /  S M A L L

200

160

2
3

5
0

T E C H  S P E C

CARE INSTRUCTIONS

Wipe with damp cloth with no loose hairs ,  avoid using 
any chemicals .  Please note al l  f in ishes are prone to aging.

1
8

 Ø

* F i ts  doors & draws of max 20 mm.

Handle is  f i t ted from behind cabinet door and can not be front face f i t ted.

2 pcs2 pcs

2x M5 x 30 mm screw*
2x Washer

125

FINISH SKUFINISH SKU

UK-PB-HP-160-ST-A

UK-PB-HP-160-BR-A

UK-PB-HP-160-SM-A

UK-PB-HP-160-BL-A

Steel

Brass 

Smoked Bronze 

Black

ALSO INCLUDED:



B U S T E R  +  P U N C H  T E C H  S P E C

B U S T E R  +  P U N C H  T E C H  S P E C

P U L L  B A R  /  P L A T E  /  M E D I U M

300

260

2
3

5
0

1
8

 Ø

T E C H  S P E C

225

FINISH SKU ALSO INCLUDED:

Handle is  f i t ted from behind cabinet door and can not be front face f i t ted.

2 pcs2 pcs

2x M5 x 30 mm screw*
2x WasherUK-PB-HP-260-ST-A

UK-PB-HP-260-BR-A

UK-PB-HP-260-SM-A

UK-PB-HP-260-BL-A

Steel

Brass

Smoked Bronze

Black

CARE INSTRUCTIONS

Wipe with damp cloth with no loose hairs ,  avoid using 
any chemicals .  Please note al l  f in ishes are prone to aging.

* F i ts  doors & draws of max 20 mm.



B U S T E R  +  P U N C H  T E C H  S P E C

B U S T E R  +  P U N C H  T E C H  S P E C

P U L L  B A R  /  P L A T E  /  L A R G E

400

2
3

5
0

T E C H  S P E C

360

1
8

Ø

325

FINISH SKU ALSO INCLUDED:

Handle is  f i t ted from behind cabinet door  and can not be front face f i t ted.

2 pcs2 pcs

2x M5 x 30 mm screw*
2x WasherUK-PB-HP-360-ST-A

UK-PB-HP-360-BR-A

UK-PB-HP-360-SM-A

UK-PB-HP-360-BL-A

Steel

Brass

Smoked Bronze

Black

CARE INSTRUCTIONS

Wipe with damp cloth with no loose hairs ,  avoid using 
any chemicals .  Please note al l  f in ishes are prone to aging.

* F i ts  doors & draws of max 20 mm.



Contents 
2x  M5 x 30 mm screw*
2x  Washer

*Fi ts  doors & drawers of max 20 mm.*Fits  doors & drawers of max 20 mm. 

Contents
2x  M5 x 30 mm screw*
2x Washer

P U L L  B A R  /  P L A T EP U L L  B A R
1. Dri l l  holes,  dr i l l  template avai lable to 
download from busterandpunch.com.

2.  Attach pul l  bar to door from the back 
with screws & washer.

1.  Dri l l  holes,  dr i l l  template avai lable to 
download from busterandpunch.com.

2.  Attach pul l  bar to door from the back 
with screws & washer.

B U S T E R A N D P U N C H . C O M

H A R D W A R E
P U L L  B A R

CARE INSTRUCTIONS

Use mild detergent and soft  damp cloth

E U R O P E  I N S T R U C T I O N S


